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Blacken the letter A, B, C, or D on your answer sheet to show the underlined part that needs correction.

Question1: Cool temperatures, shade, moist (A), and the presence of   dead (B) organic material provide (C) the ideal living conditions (D) for mushrooms.

Question 2: Despite (A) fats and oil are nutritionally (B) important as (C) energy sources, medical research indicates (D) that saturated fats may contribute to hardening of the arteries.

Question 3: The  engineering (A) in charge of the design of a scientific tool works in close (B) partnership with (C) the scientist and the technician (D).

Question 4: Searching for  alternate (A) forms of energy does not necessary (B) mean the abandonment (C) of fossil fuels as an energy source (D).

Question 5: The radio telescope, invented (A) in 1932, has capabilities (B) beyond far (C) those of optical telescopes  in tracking  (D) signals from galaxies.

Read the following passage and blacken the letter A, B, C or D on your answer sheet to indicate the correct word for each of the blanks 

Quite apart from the economic similarity between present-day automation and the mechanization, which has been proceeding for centuries, it must also be stressed that even in the United States, automation is by no means the only factor (6) _____ people from existing jobs. The increasing number of unneeded workers in (7) _____ years has been the result of much more simple and old-fashioned influences: farm laborers have been (8) _____ out of work by bigger tractors, miners by the cheapness of oil, and railway-men by better roads. It is quite wrong, therefore, to think of automation as some new monster whose arrival (9) ______ the existence of employment in the same way that the arrival of myxomatosis threatened the existence of the rabbit. Automation is one (10) _______ of technological changes (changes in tastes, changes in social patterns, changes in organization) which (11) ______ in certain jobs disappearing and certain skills ceasing to be required. And even in America, which has a level of technology and output per (12) _______  much in advance of Britain’s, there is no (13) _______ that the (14) _______ of change is actually speeding up. Nevertheless changes in the amount of labor needed to produce a certain output are proceeding fairly rapidly in America – and in (15) ______ countries – and may proceed more rapidly in future. Indeed it is one of the main objects of economic policy.

Question 6 
A. riding

B. displacing

C. passing

D. dismissing

Question 7 
A. recent

B. later


C. passed

D. elapsed

Question 8 
A. put


B. fit


C. set 


D. dismissed

Question 9
A. shadows

B. evades

C. intimidates

D. threatens

Question 10 
A. face


B. point

C. aspect

D. angle

Question 11
A. result

B. reside

C. end


D. prospect

Question 12 
A. human

B. head


C. unit


D. piece

Question 13 
A. signal

B. evidence

C. demonstration
D. incidence

Question 14 
A. step


B. rush


C. pace


D. leap

Question 15 
A. another

B. others

C. other

D. each

Blacken  the letter A, B, C, or D on your answer sheet to indicate the word that differs from the rest in the position of the main stress in each of the following questions.

Question 16: 
A. historian 

B. architecture 

C. biography 

D. thermometer

Question 17: 
A. supposedly 

B. curriculum 

C. surprisingly 

D. supernatural

Question 18: 
A. magnificent 

B. miraculous  

C. inferior
 
D. electronic

Question 19: 
A. relevant 

B. cognitive 

C. artistic 

D. consequence

Question 20: 
A. admirable
 
B. considerate 

C. unbearable
 
D. intentional

Blacken the letter A, B, C, or D on your answer sheet to indicate the sentence that is closest in meaning to each of the following questions.

Question 21: There were no poor performances, but that of the Russian dancers was certainly the best.


A. The best performances were those of the Russians; some of others were poor.


B. The standard of dancing was high, particularly among the Russians.


C. The Russian dancers were well-worth watching but the others weren’t.


D. They all danced well, but the Russian dancers were far better.

Question 22: Owing to the poor visibility caused by the fog, it took us ten hours, instead of the usual eight, to get to Istanbul.


A. The light of Istanbul were visible for two hours before we reached the city.


B. Even though we ran into a lot of fog on the way to Istanbul, the journey didn’t take much longer than 
usual.


C. It took between eight and ten hours to drive to Istanbul, depending on visibility.


D. The fog meant that we reached Istanbul two hours later than normal.

Question 23: The theory of natural selection made the idea of organic evolution acceptable to the majority of 
the scientific world.


A. The world’s scientist accepted the idea of organic evolution more rapidly than the concept of natural 
selection.


B. Without the theory of natural selection to support it, no scientists would ever have approved the theory of 
organic evolution.


C. On the whole, the scientific world approved the concept of organic evolution once the theory of natural 
selection had been postulated.


D. It was only after the introduction of the theory of natural selection that scientists paid any attention to 
the idea 
of organic evolution.

Question 24: Much to my surprise, I found his lecture on the civilization of Mesopotamia extremely interesting.


A. Contrary to expectations, his lecture on ancient Mesopotamia was the most fascinating of all.


B. It was at his lecture on the civilization of  Metosotamia that I realized how fascinating the subject is.


C. I was fascinated by what he had to say in his lecture on  the civilization of  Mesopotamia though I hadn’t 
expected to be.


D. I hadn’t expected him to lecture on the civilization of  Mesopotamia, but he spoke remarkably well.

Question 25: The newspapers are putting the blame on his private secretary, but I think several people are equally guilty.


A. It seems to me that several people are at fault, not just his private secretary as the newspapers are 
suggesting.


B. The names of some guilty people were given to the newspapers by his private secretary.


C. According to the newspapers, it is not only his private secretary who is to blame; several other people 
are involved.


D. Some of the people who are quite as guilty as his private secretary have managed to avoid getting their 
names in the newspapers.

Question 26: Rather than disturb the meeting, I left without saying goodbye.

A. I would rather disturb the meeting  than leave without saying goodbye.


B. I left without saying goodbye as I didn't want to disturb the meeting.


C. I disturbed the meeting because I said goodbye.

D. The meeting was disturbed as I left saying goodbye.

Question 27: As Elton John became more famous, it was more difficult for him to avoid newspaper reporters.


A. The more famous Elton John became, the more difficult it was for him to avoid newspaper reporters.


B. The more famous Elton John became, the more difficult for him it was to avoid newspaper reporters.


C. The more famous Elton John became, more difficult for him to avoid newspaper reporters it was.


D. The more Elton John became famous, the more difficult for him it was to avoid newspaper reporters.

Question 28: We’re still  debating whether or not he deserves to be promoted.


A. There was much disagreement among us as to whether he’s suitable candidate for promotion.


B. The question of whether he’s entitled to promotion has not yet been discussed.


C. His promotion will certainly cause a great deal of disagreement among us.


D. We haven’t yet come to an agreement as to if he should be promoted.

Question 29: Apparently, Tom and Jerry can’t spend an afternoon together without fighting.


A. A fight seems inevitable when Tom and Jerry are together even if only for an afternoon.


B. Tom and Jerry must have got together in the afternoon to have a fight.


C. Presumably, on the afternoon of the fight, Tom and Jerry were together.


D. Unfortunately, Tom and Jerry spent the whole afternoon fighting each other.

Question 30: Wouldn’t it be better to let them know about the alterations to the plan?


A. Why haven’t they been informed about the new development?


B. Shouldn’t they have been consulted before the scheme was changed?


C. Don’t you think they should be informed about the changes in the plan?


D. We’d better ask them to change the plan, hadn’t we?

Read the following passage and blacken the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions.

The history of clinical nutrition, or the study of the relationship between health and how the body takes in and utilizes food substances, can be divided into four distinct eras: the first began in the nineteenth century and extended into the early twentieth century when it was recognized for the first time that food contained constituents that were essential for human function and that different foods provided different amounts of these essential agents. Near the end of this era, research studies demonstrated that rapid weight loss was associated with nitrogen imbalance and could only be rectified by providing adequate dietary protein associated with certain foods.

The second era was initiated in the early decades of the twentieth century and might be called "the vitamin period." Vitamins came to be recognized in foods, and deficiency syndromes were described. As vitamins became recognized as essential food constituents necessary for health, it became tempting to suggest that every disease and condition for which there had been no previous effective treatment might be responsive to vitamin therapy. At that point in time, medical schools started to become more interested in having their curricula integrate nutritional concepts into the basic sciences. Much of the focus of this education was on the recognition of deficiency symptoms. Herein lay the beginning of what ultimately turned from ignorance to denial of the value of nutritional therapies in medicine. Reckless claims were made for effects of vitamins that went far beyond what could actually be achieved from the use of them.

In the third era of nutritional history in the early 1950's to mid-1960's, vitamin therapy began to fall into disrepute. Concomitant with this, nutrition education in medical schools also became less popular. It was just a decade before this that many drug companies had found their vitamin sales skyrocketing and were quick to supply practicing physicians with generous samples of vitamins and literature extolling the virtue of supplementation for a variety of health-related conditions. Expectations as to the success of vitamins in disease control were exaggerated. As is known in retrospect, vitamin and mineral therapies are much less effective when applied to health-crisis conditions than when applied to long-term problems of under nutrition that lead to chronic health problems.

Question 31: What does the passage mainly discuss?

A. The effects of vitamins on the human body


B. The history of food preferences from the nineteenth century to the present



C. The stages of development of clinical nutrition as a field of study


D. Nutritional practices of the nineteenth century

Question 32: It can be inferred from the passage that which of the following discoveries was made during the first era 
in the history of nutrition?


A. Protein was recognized as an essential component of diet.


B. Vitamins were synthesized from foods.


C. Effective techniques of weight loss were determined.


D. Certain foods were found to be harmful to good health.

Question 33: The word "tempting" is closest in meaning to


A. necessary

B. attractive

C. realistic

D. correct

Question 34: It can be inferred from the passage that medical schools began to teach concepts of nutrition in

order to 


A. convince medical doctors to participate in research studies on nutrition


B. encourage medical doctors to apply concepts of nutrition in the treatment of disease


C. convince doctors to conduct experimental vitamin therapies on their patients


D. support the creation of artificial vitamins

Question 35: The word "Reckless" is closest in meaning to


A. recorded

B. irresponsible
C. informative

D. urgent

Question 36: The word "them" in line 16 refers to


A. therapies

B. claims

C. effects

D. vitamins

Question 37: Why did vitamin therapy begin losing favor in the 1950's ?


A. The public lost interest in vitamins.


B. Medical schools stopped teaching nutritional concepts.


C. Nutritional research was of poor quality


D. Claims for the effectiveness of vitamin therapy were seen to be exaggerated.

Question 38: The phrase "concomitant with" is closest in meaning to


A. in conjunction with

B. prior to

C. in dispute with
D. in regard to

Question 39: The word "skyrocketing" is closest in meaning to


A. internationally popular
B. increasing rapidly
C. acceptable

D. surprising

Question 40: The paragraph following the passage most probably discusses


A. The fourth era of nutrition history


B. Problems associated with undernutrition


C. How drug companies became successful

C. Why nutrition education lost its appeal

Blacken the letter A, B, C or D on your answer sheet to indicate the correct answer to each of the following questions.

Question 41:  Why don't you try praising your students occasionally instead of ________ them all the time?

      A. crying to

B. falling over
C. shouting at


D. rushing into

Question 42: After so many years, it is great to see him  ________ his ambitions.

      A. realise


B. get 

C. possess


D. deserve

Question 43:  Unless this outbreak of cholera ________rapidly under control, we ________ourselves with an epidemic on our hands.

      A. has brought/could find 


B. is brought/may find 

      C. were brought/would be found    

D. had brought/might have found           

Question 44:  We still meet up for a drink and a chat once ________.

      A. in a blue moon

B. in a while


C. at a time

D. in a black mood

Question 45: ________ in the diet is especially important for vegetarians.

A. Enough protein is obtained  

B. Obtaining enough protein 

C. They obtain enough protein 

D. By obtaining enough protein 

Question 46:
Linda: "It's been a tough couple of months, but I think the worst is behind us now."



Jill: “________”

      A. Good luck! 
B. Good morning. 
C. Goodness me!  

D. Good.

Question 47:  Many of the relics of early Mesopotamia, one of the areas where civilizations first _____,   ______ from their sites over the years, and are now on display in European museums..

      A. used to develop/were removed


B. had developed/have removed 



      C. developed/have been removed


D. were developing/had removed

Question 48:  
Student: "I would like to join the library."



Librarian: “________”

      A. OK. Would you like to fill in this form?

B. OK. This is the form that requires us.

      C. OK. I would like to fill in this form.

D. OK. See if you can join.

Question 49: I hope that by the time our rivals________ out about this deal, we ______ all the contracts.

A. found/had been signed     B. will find/are signing 
C. have found/will sign   D. find/will have signed

Question 50:  I'm beginning to think _______ people say about him is true.

A. which 

B. things 

C. what 

D. those

Question 51: 
A: "How much sugar do you want in your coffee?"



B: “________”

      A. So much.
B. Too much.    
C. Little bit.
D. Not much.

Question 52: At the South Pole ________ , the coldest and most desolate region on Earth.

A. Antarctica lies where 
B. Antarctica lies and
C. where Antarctica lies 
D. lies Antarctica  

Question 53:  She never once needed to consult the manual. She had all the information _______ her fingertips.

A. with 

B. at 


C. by 


D. for


Question 54: ________ have made communication faster and easier through the use of email and Internet is widely recognized.

       A. It is that computers

B. That computers
C. Computers that
D. That it is computers

Question 55: Larry drove all night to get there for his sister’s wedding. He ______exhausted by the time he arrived. 

A. ought to be

B. could be 

C. should have been 

D. must have been

Question 56: This was of course very embarrassing for the P.M. and _____of the speech he told funny stories.

       A. in spite 


B. in case 

C. instead 

D. intend

Question 57: Rows and silences are ______ and parcel of any marriage.

       A. package  

B. stamps  

C.  packet  

D. part

Question 58. ________, Sarah Jeweft, a nineteenth- century writer, read widely in her family's extensive library.

A. That she received little education formally 

B. The little formal education that she received  


C. Little formal education that was received by

D. Although she received little formal education  

Question 59: Children with parents whose guidance is firm, consistent and rational are inclined ________ high levels of self-confidence.
A. possess  

B. have possessed 
C. to possess 

D. possessing
Question 60: 
Linda: “Have you got anything by Jane Austen?”

      

Janet: “ ________”

A. No, I haven't got any. 

B. Will you buy it, please? 


C. Have a look upstairs. 

D. Don't worry about it. I've got some.

Question 61: Although thunder and lightning are produced at the same time, light waves travel faster 
________ , so we see the lightning before we hear the thunder.

       A. than sound waves are  
B. than sound waves do
C. do sound waves 
D. sound waves

Question 62: Snow aids farmers by keeping heat in the lower ground levels, thereby _____ from freezing.
       A. to save the seeds 
B. saving the seeds
C. which save the seeds
D. the seeds save
Question 63. The boy _______ to having been writing graffiti on the walls. 

       A. agreed


B. confessed 


C. denied

D. accepted

Question 64: The Earth has a tremendous amount of water, but_______ in the oceans.

A. almost all of it is 
B. it is almost all of  
C. all of it is almost 
D. it almost is all

Question 65: You will be glad to know your son's work is showing a  _______ improvement.

A. marked 

B. mediocre

C. minimal 

D. pronounced

Question 66: The world's deepest cave, Pierre St. Martin in the Pyrenees mountains, is almost three times as deep ________ .

A. as the Empire State Building is high 

B. that the Empire State Building is higher



C. is higher than the Empire State Building 
D. and the Empire State Building's height

Question 67: Overweight people should not jog, because it puts a great ________  their hearts.


 A. strain on
B. control over
C. trouble with
 
D. cruelty to

Question 68: Don't worry; this is nothing that _______ you .

A. matters
 
B. entails

C. concerns 
 
D. complicates

Question 69: It may be raining, but I'm _______ enjoying myself.

A. thoroughly 
B. slightly   

C. extremely 

D. desperately  

Question 70: How do you account for the manager's fiery _______ yesterday afternoon?

A. output 

B. outburst 

C. outcry 

D. outlaw

Read the following passage and blacken the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions.
Sharks have gained an unfair reputation for being fierce predators of large sea animals. Humanity's unfounded fear and hatred of these ancient creatures is leading to a worldwide slaughter that may result in the extinction of many coastal shark species. The shark is the victim of a warped attitude of wildlife protection; we strive only to protect the beautiful, non-threatening parts of our environment. And, in our efforts to restore only non-threatening parts of our earth, we ignore other important parts. 
A perfect illustration of this attitude is the contrasting attitude toward another large sea animal, the dolphin. During the 1980s, environmentalists in the United States protested the use of driftnets for tuna fishing in the Pacific Ocean since these nets also caught dolphins. The environmentalists generated enough political and economic pressure to prevent tuna companies from buying tuna that had been caught in driftnets. In contrast to this effort on behalf of the dolphins, these same environmentalists have done very little to help save the Pacific Ocean sharks whose population has decreased nearly to the point of extinction. Sharks are among the oldest creatures on earth, having survived in the seas for more than 350 million years. They are extremely efficient animals, feeding on wounded or dying animals, thus performing an important role in nature of weeding out the weaker animals in a species. Just the fact that species such as the Great White Shark have managed to live in the oceans for so many millions of years is enough proof of their efficiency and adaptability to changing environments. It is time for us humans, who may not survive another 1,000 years at the rate we are damaging the planet, to cast away our fears and begin considering the protection of sharks as an important part of a program for protection of all our natural environment.

Question 71: With which of the following topics is this passage primarily concerned? 

A. Sharks are efficient creatures with bad reputations.

B. Sharks are some of the oldest creatures on earth.

C. Sharks illustrate a problem in wildlife protection.

D. The campaign to save dolphins was not extended to save sharks.

Question 72: The word "protested" is closest in meaning to which of the following? 

A. prescribed

B. objected to

C. protected


D. reflected on

Question 73: How did environmentalists manage to protect dolphins? 


A. They prevented fishermen from selling them for meat.


B. They pressured fishermen into protecting dolphins by law.


C. They brought political pressure against tuna companies.




D. They created sanctuaries where dolphin fishing was not allowed.

Question 74: About how long have sharks lived on the planet? 


A. 25 million years
     B. 150 million years
     C. 350 million years

D. 500 million years

Question 75: The author uses the phrase "weeding out" to mean 

A. strengthening something that is weak 

B. feeding something that is hungry

C. encouraging something that is efficient

D. getting rid of something that is unwanted

Question 76: The phrase "managed to live" is used to infer that 


A. surviving was difficult



B. migration was common

C. procreation was expanding



D. roaming was necessary                                                                                                                                                  Question 77: The phrase "to cast away" means most nearly 

A. to throw off

B. to bring in

C. to see through

D. to set apart

Question 78: What is the author's tone in this passage? 


A. explanatory

B. accusatory

C. gentle


D. proud

Question 79: Which of the following best describes the organization of this passage? 

A.  order of importance
B. cause and effect
C. statement and example
D. chronological order

Question 80: Which of the following is NOT mentioned in the passage?


A. We are only protecting the beautiful and non-threatening parts of our environment.


B. Worldwide slaughter of sharks may lead to the extinction of these animals.


C. Environmentalists didn't  approve of using driftnets to catch tuna because they also caught dolphins.

D. Tuna fishing is one of the causes that lead to the decrease in the number of tuna in the Pacific Ocean.

THE END
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PART I: Mark the letter A, B, C, or D on your answer sheet to indicate the word that differs from the rest in the position of the main stress in each of the following questions.

Question 1: A. explanation
B. preparation
C. considerate
D. information

Question 2: A. elaborately
B. mysteriously
C. originally
D. necessarily

Question 3: A. individual
B. competitive
C. occupation
D. documentary

Question 4: A. capture
B. picture
C. ensure
D. pleasure

Question 5: A. different
B. important
C. essential
D. negation

PART II: Mark the letter A, B, C, or D on your answer sheet to indicate the correct one to complete each of the following sentences.

Question 6: It was in this house ______.

A. I was born in
B. in which I was born

C. where I was born
D. that I was born

Question 7: Thailand defeated Laos______3______2.

A. with/by
B. with/ of
C. by/of
D. by/to

Question 8: On the second thought, I believe I will go with you to the theater.

A. On reflection
B. For this time only

C. After discussing with my wife
D. For the second time

Question 9: My passport ______ last month, so I will have to get a new one.

A. ended
B. terminated
C. expired
D. elapsed

Question 10: I must take this watch to be repaired; it _____ over 20 minutes a day.

A. gains
B. accelerates
C. increases
D. progresses

Question 11: Mr. Henry was given a medal in _____ of his service to his country.

A. response
B. gratitude
C. recognition
D. knowledge

Question 12: “Please speak up a bit more, Jason. You’re hardly loud enough to be heard from the back”, the teacher said.

A. eligible
B. audible
C. edible
D. visible

Question 13: If he is in trouble, it is his own fault; I personally wouldn’t ______ a finger to help him.

A. bend
B. turn
C. rise
D. lift

Question 14: As it was Christmas, the _____ at church was much larger than usual.

A. congregation
B. convention
C. grouping
D. audience

Question 15: -"______"      “Yeah, down this street, on the left”

A. Is there a station near here?
B. How often does the train come?

C. Is this a train station?
D. Would you like to go by train?

Question 16: Forget all and try your best next time- Lightning never ______twice in the same place.
A. strikes
B. beats
C. hits
D. attacks

Question 17: He managed to finish his thesis under the _____ of his tutor.

A. assistance
B. help
C. guidance
D. aid

Question 18: Everyone knows about pollution problems, but not many people have _____ any solutions.

A. looked into
B. come up with
C. thought over
D. got round to

Question 19: There has been a recommendation that Peter ______ the president of the country.

A. will be elected
B. be elected
C. is elected
D. was elected

Question 20: The sheep were huddled into a _____ to protect them from overnight frosts.

A. cage
B. pen
C. kennel
D. hutch

Question 21: Many _____ crafts such as weaving are now being revived.

A. habitual
B. traditional
C. customary
D. ordinary

Question 22: There is ______ in my bead room

A. a square wooden old table
B. an old square wooden table

C. a wooden old square table
D. an old wooden square table

Question 23: There seems to be a large ______ between the number of people employed in service industries, and those employed in the primary sectors.

A. discrepancy
B. discretion
C. discriminate
D. distinguish

Question 24: A: “I am sorry. I broke the vase.”

 B: “______.”

A. OK. Go ahead
B. Yes, certainly

C. Don’t worry. Things break.
D. I’d rather not.

Question 25: ______, he felt so unhappy and lonely.

A. In spite of his being wealth
B. Rich as was he
C. Rich as he was
D. Despite his wealthy
Question 26: ______of half- starving wolves were roaming the snow- covered countryside.

A. Herds
B. Flocks
C. Packs
D. Swarms

Question 27: “I understand you don’t like opera. ______, I go at least once a month.”

A. In contrast
B. On contrast
C. In the contrast
D. On the contrast

Question 28: He seems to make the same mistake over and over again

A. for good
B. by the way
C. repeatedly
D. in vain

Question 29: When ______ to explain his mistake, the new employee cleared his throat nervously.

A. asking
B. to be asked
C. to be asking
D. asked

Question 30: You _____ as well seek for a fish in the tree as try to do that.

A. might
B. should
C. would
D. must

PART III: Mark the letter A, B, C, or D on your answer sheet to indicate the word or phrase that is closest in meaning to the underlined part in each of the following questions.

Question 31: His new yacht is certainly an ostentatious display of his wealth.

A. showy
B. expensive
C. large
D. ossified

Question 32: A domineering husband, he is the stereotype of a male chauvinist.

A. musician
B. opposite
C. disagreeable type
D. fixed conception

Question 33: I’d rather stay in a hotel with all the amenities than camp in the woods.

A. expenses
B. friends
C. sports
D. conveniences

Question 34: Dr. Jones suggested that final examinations should be discontinued, an innovation I heartily support.

A. inner part
B. test
C. entrance
D. change

Question 35: He inherited a lucrative business from his father.

A. lucid
B. losing
C. wealthy
D. profitable

PART IV: Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions 36 to 45.
Animals have an intuitive awareness of quantities. They know without analysis the difference between a number of objects and a smaller number. In his book “ The Natural History of Selboure ” (1786), the naturalist Gilbert White tells how he surreptitiously removed one egg a day from a plover’s nest , and how the mother laid another egg each day to make up for the missing one. He noted that other species of birds ignore the absence of a single egg but abandon their nests if more than one egg has been removed. It has also been noted by naturalists that a certain type of wasp always provides five – never four, never six  - caterpillars  for each of their eggs so that their young have something to eat when the eggs hatch. Research has also shown that both mice and pigeons can be taught to distinguish between odd and even numbers of food pieces. 

         These and similar accounts have led some people to infer that creatures other than humans can actually count. They also point to dogs that have been taught to respond to numerical questions with the correct number of barks, or to horses that seem to solve arithmetic problems by stomping their hooves the proper number of times.

        Animals respond to quantities only when they are connected to survival as a species – as in the case of the eggs – or survival as individuals - as in the case of food. There is no transfer to other situations or from concrete reality to the abstract notion of numbers. Animals can “count” only when the objects are present and only when the numbers involved are small – not more than seven or eight. In lab experiments, animals trained to “count” one kind of object were unable to count any other type. The objects, not the numbers, are what interest them. Animals admittedly remarkable achievements simply do not amount to evidence of counting, nor do they reveal more than innate instincts, refined by the genes of successive generations, or the results of clever, careful conditioning by trainers.

Question 36:  The word “they” refer to______.

A. numbers
B. animals
C. achievements
D. genes

Question 37:  The word “odd” refers to which of the following?

A. numbers such as 1, 3, 5 and so on
B. unusual numbers

C. lucky numbers
D. numbers such as 2, 4, 6 and so on

Question 38:  The word “accounts” is closest in meaning to ______.

A. reasons
B. deceptions
C. invoices
D. reports

Question 39:  According to information in the passage, which of the following is LEAST likely to occur as a result of animals’ intuitive awareness of quantities?

A. When asked by its trainer how old it is, a monkey holds up five fingers.

B. A lion follows one antelope instead of the herd of antelopes because it is easier to hunt a single prey.

C. When one of its four kittens crawls away, a mother cat misses it and searches for the kitten.

D. A pigeon is more attracted by a box containing two pieces of food than by a box containing one piece.

Question 40:  The word “surreptitiously” is closest in meaning to ______.

A. stubbornly
B. secretly
C. quickly
D. occasionally

Question 41:  What is the main idea of this passage?

A. Of all animals, dogs and horses can count best.

B. Careful training is required to teach animals to perform tricks involving numbers

C. Although animals may be aware of quantities, they cannot actually count.

D. Animals cannot “count” more than one kind of object.

Question 42:  Where in the passage does the author mention research that supports his own view of animals’ inability to count?

A. “In his book …… the missing one.”

B. “In lab experiments…….other type”

C. “Research has shown that …… food pieces.”

D. “These and similar accounts …..count.”

Question 43:  Why does the author refer to Gilbert White’s book in line 2?

A. To contradict the idea that animals can count.

B. To provide evidence that some birds are aware of quantities.

C. To show how attitudes have changed since1786.

D. To indicate that more research is needed in this field.

Question 44:  How would the author probably characterize the people who are mentioned in the first line of the second paragraph?

A. As mistaken
B. As demanding
C. As clever
D. As foolish

Question 45:  The author mentions that all of the following are aware of quantities in some ways EXCEPT _____.

A. caterpillars
B. mice
C. plovers
D. wasps

PART V: Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions from 46 to 55.
The Roman alphabet took thousands of years to develop, from the picture writing of the ancient Egyptians through modifications by Phoenicians, Greek, Romans, and others. Yet in just a dozen years, one man, Sequoyah, invented an alphabet for the Cherokee people. Born in eastern Tennessee, Sequoyah was a hunter and a silversmith in his youth, as well as an able interpreter who knew Spanish, French and English.

Sequoyah wanted his people to have the secret of the “talking leaves” as he called his books of white people, and so he set out to design a written form of Cherokee. His chief aim was to record his people’s ancient tribal customs. He began by designing pictographs for every word in the Cherokee vocabulary. Reputedly his wife, angry with him for his neglect of garden and house, burned his notes, and he had to start over. This time, having concluded that picture-writing was cumbersome, he made symbols for the sounds of Cherokee language. Eventually he refined his system to eighty-five characters, which he borrowed from the Roman, Greek, and Hebrew alphabets. He presented this system to the Cherokee General Council in 1821, and it was wholeheartedly approved. The response was phenomenal. Cherokees who had struggled for months to learn English lettering school picked up the new system in days. Several books were printed in Cherokee, and in 1828, a newspaper, the Cherokee Phoenix, was first published in the new alphabet. Sequoyah was acclaimed by his people.

In his later life, Sequoyah dedicated himself to the general advancement of his people. He went to Washington, D.C., as a representative of the Western tribes. He helped settled bitter differences among Cherokee after their forced movement by the federal government to the Oklahoma territory in the 1930s. He died in Mexico in 1843 while searching for groups of lost Cherokee. A statue of Sequoyah represents Oklahoma in the Statuary Hall in the Capitol building of Washington. D.C. However, he is probably chiefly remembered today because Sequoias, the giant redwood trees of California, are named of him.

Question 46:  The passage is mainly concerned with______.

A. Sequoyah’s experiences in Mexico.
B. the development of the Roman alphabet

C. the pictographic system of writing
D. the accomplishments of Sequoyah

Question 47:  According to the passage, a memorial statue of Sequoyah is located in ______.

A. Tennessee
B. Oklahoma
C. Mexico
D. Washington. D.C

Question 48:  According to the passage, how long did it take to develop the Cherokee’s alphabet?

A. twelve years
B. eighty-five years
C. twenty years
D. thousands of years

Question 49:  In the final version of the Cherokee alphabet system, each of the characters represents a ______.
A. picture
B. sound
C. word
D. thought

Question 50:  Why does author mention the giant redwood trees of California in the passage?

A. The trees inspired Sequoyah to write a book.

B. Sequoyah was born in the vicinity of the redwood forest.

C. The trees were named in Sequoyah’s honor.

D. Sequoyah took his name from those trees.

Question 51:  According to the passage, Sequoyah used the phrase talking leaves to refer to______.

A. redwood trees
B. newspaper
C. books
D. symbols for sounds

Question 52:  There is no indication in the passage that, as a young man, Sequoyah______.

A. served as a representative in Washington
B. served as an interpreter

C. made things form silver
D. hunted game

Question 53:  What was Sequoyah’s main purpose in designing a Cherokee alphabet?

A. to record Cherokee customs
B. to write about his own life

C. to publish a newspaper
D. to write books in Cherokee

Question 54:  The word cumbersome is closest in meaning to______.

A. radical
B. awkward
C. unfamiliar
D. simplistic

Question 55:  All of the following were mentioned in the passage as alphabet systems that Squoyah borrowed from except______.

A. Egyptian
B. Hebrew
C. Roman
D. Greek

PART VI: Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct word for each of the blanks from 56 to 65.

There are many superstitions in Britain, but one of the most (56) ______ held is that it is unlucky to walk under a ladder even if it means (57) ______the pavement into a busy street! If you must pass under a ladder, you can avoid bad luck by crossing your fingers and keeping them crossed until you have seen a dog. (58) ______, you may lick your finger and make a cross on the toe of your shoe, and not look again at the shoe until the mark has dried.

    
Another common superstition is that it is unlucky to open an umbrella in the house - it will either bring (59) ______ to the person who opened it or to the whole (60) ______. Anyone opening an umbrella in the fine weather is unpopular, as it inevitably brings rain!

     
The number 13 is said to be unlucky for some, and when the 13th day of the month (61) ______ on a Friday, anyone wishing to avoid a bad event had better stay indoors. The worst misfortune that can happen to a person is caused by breaking a mirror, as it brings seven years of bad luck! The superstition is supposed to (62) ______ in ancient times, when mirrors were considered to be tools of the gods.

     
Black cats are generally considered lucky in Britain, even though they are (63) ______witchcraft. It is (64) ______ lucky if a black cat crosses your path – although in America the exact opposite belief prevails.

     
Finally, a commonly held superstition is that of touching wood (65) ______luck. This measure is most often taken if you think you have said something that is tempting fate, such as “My car has never broken down, touch wood?”

Question 56: A. broadly
B. widely
C. quickly
D. speedily

Question 57: A. jumping off
B. keeping from
C. stepping off
D. running from

Question 58: A. Consequently
B. However
C. Comparatively
D. Alternatively

Question 59: A. difficulty
B. tragedy
C. loss
D. misfortune

Question 60: A. house
B. household
C. home
D. member

Question 61: A. happens
B. arrives
C. falls
D. drops

Question 62: A. be originated
B. be originating
C. have originated
D. originate

Question 63: A. concerned about  B. related with
C. associated with
D. connected on

Question 64: A. specially
B. rarely
C. frequently
D. especially

Question 65: A. as
B. in
C. for
D. of

PART VII: Mark the letter A, B, C, or D on your answer sheet to choose the sentence which is closest in meaning to the given one or that is best made from the given prompts

Question 66: He was driving so fast that he could have had an accident.

A. He wasn’t driving fast enough to avoid an accident.

B. He didn’t have an accident although he was driving very fast.

C. If he had been driving very fast, he would have had an accident.

D. An accident happened, and it was caused by his very fast driving.

Question 67: Mrs. Jones told me that her neighbors were moving to Florida.

A. Mrs. Jones and her neighbors live in Florida.

B. Mrs. Jones is planning to move to Florida with her neighbors.

C. I knew that Mrs. Jones had moved to Florida because her neighbors told me.

D. “My neighbors are moving to Florida,” said Mrs. Jones.

Question 68: Ho Chi Minh/ all/ to/ goal/ devoted/ single/:/ his/ country/ life/ independence/ for/ his/.

A. Ho Chi Minh devoted his all life to a goal: independence for his single country.

B. Ho Chi Minh devoted all his life to a single goal: independence for his country.

C. Ho Chi Minh devoted his all life to a goal: single independence for his country.

D. Ho Chi Minh devoted all his life to a goal single: independence for his country.

Question 69: No matter how hard Fred tried to start the car, he didn’t succeed.

A. Fried tried very hard to start the car, and succeeded.

B. Fried tried hard to start the car, and with success.

C. However hard he tried, Fried couldn’t start the car.

D. It’s hard for Fried to start the car because he never succeeded.

Question 70: Darwin,/ theory of revolution/ was/ scientists/ among/ made/ famous,/ him/ the/ greatest/whose/.

A. Darwin, whose theory of evolution made him famous, was among the greatest scientists.

B. Darwin, whose theory of evolution, has made him famous was among the greatest scientists.

C. Darwin, made him famous whose theory of revolution, was among the greatest scientists.

D. Darwin, whose theory of revolution was among the greatest, made him famous scientists.

Question 71: It was only because his wife helped him that he was able to finish his book.

A. Without his wife’s help, he couldn’t have finished his book.

B. If only he had been able to finish his book.

C. But for his wife’s help, he couldn’t finish his book.

D. If it weren’t for his wife’s help, he couldn’t have finished his book.

Question 72: You have to finish your homework if you want to go to the party.

A. Unless you finish your homework, you can go to the party.

B. Finish your homework, you can go to the party.

C. Finish your homework, otherwise you can go to the party.

D. Finish your homework, or else you cannot go to the party.

Question 73: Our/ because/ become/ fingers/ in/ life/ modern/ more/ much/ sensitive/ them/ use/ we/ will/.

A. Our fingers will become more sensitive because we use them much in modern life.

B. Our fingers will become more sensitive because modern life in we use them very much.

C. Our fingers will become more sensitive because we use modern life much in them.

D. Our fingers will become more modern because we use them much in sensitive life.

Question 74: farmers/ outside/ the/ hundreds/ parliament/ of/ house/ demonstrated.

A. Hundreds farmers outside demonstrated of the Parliament House

B. Hundreds of farmers demonstrated outside the Parliament House.

C. Farmers demonstrated outside hundreds of Parliament House.

D. Hundreds of farmers outside demonstrated the Parliament House.

Question 75: son/ it/ food/ he/ in/ for/ was/ my/ to/ eat/ was/ when/ difficult/ Thai/ Bangkok/.

A. It was difficult for my son when he was in Bangkok to eat Thai food.

B. It was difficult to eat Thai food when he was in Bangkok for my son.

C. It was difficult for my son to eat Thai food when he was in Bangkok.

D. It was difficult to eat Thai food for my son when he was in Bangkok.

PART VIII: Mark the letter A, B, C, or D on your answer sheet to show the underlined part that needs correction.

Question 76: Neither of the (A) girls (B) have turned in the term papers (C) to the instructor (D) yet.

Question 77: A secretary (A) told me an important file (B) had left in the lunch room (C) just (D) the other day.

Question 78: The original World Cup trophy (A) was given (B) permanent to Brazil (D) to honor that country’s record third world cup (A) title in Mexico in 1970.

Question 79: Physical therapists help patients (A) relearn how to (B) use their bodies (C) after disease or (D) injure.

Question 80: Modern transportation can speed a doctor (A) to the side of a (B) sick person, (C) even if the patient lives on an (D) isolating farm.

----------- THE END ----------
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Read the following passage and mark the letter A,B,C, D on your answer sheet to indicate the correct word for each of the blanks.

Looking for an unforgettable way to celebrate that special occasion? Well, the ….(1)of options open today’s youngster – or even “ oldster” for that matter, is a far cry from the traditional party or restaurant visit. No longer is it ….(2) sufficient to invite your friends round , buy some food and get a barker to produce a cake. No, today’s birthday boy or girl is looking for something out of the ordinary, ranging from the ….(3) expensive to the downright dangerous. Anything goes, as long as it is unusual and impressive.

Top of this year ‘s popular …..(4) are as follows: taking some friends rally driving , helicopter lessons, plane trip and parachuting , and hot air ballooning . Then there is always group bungee jumping or taking your buddies on a stomach – churning , while water rafting ……(5) down rapids.

The desire of adventurous celebration is not restricted to the ….(6) . I recently met an octogenarian who celebrated …..(7) the milestone of eighty by having a fly lesson.

Of course, if you have money the world is your oyster. A very rich relation of mine flew fifty of his friends to a Caribbean island to mark the passing of his half century. Unfortunately I was only a ….(8) relation.

Undoubtedly, the more traditional forms of celebration do continue to ….(9) the less extravagant or less adventurous among us. However, with my own half century looming on the horizon I would not say no to a weekend in Paris and a meal at the Eiffel Tower. I can …(10)dream. Perhaps by the time I’m eighty I’ll be able to afford it.

Question 1: A. scale
    
B. degree

C. range

D. variance

Question 2: A. hoped
    
B. decided

C. marked

D. considered

Question 3: A. perfectly
B. dearly

C. outrageously
D. explicity

Question 4: A. experiments 
B. extravagances. 
C. exposures

D. expenses

Question 5: A. ride

B. travel

C. voyage

D. crossing

Question 6: A. adolescents    B. teenagers

C. youth

D. young

Question 7: A. attaining         B. arriving

C. reaching

D. getting

Question 8: A. distant
B. remote

C. faraway

D. slight

Question 9: A. pacify
            B. satisfy
            C. distract

D. absorb

Question 10:A. however        B. but

            C. nevertheless
D. anyway

Mark the letter A,B,C, or D on your answer sheet to indicate the word that differs from the rest in the position of the main stress in each of the following questions.

Question 11 : A. invalid          B. predict
            C. pretend

D. preface

Question 12 : A. mausoleum 
 B. conservative
C. disqualify

D. magnificant

Question 13 : A. nuclear
 B. province

C. construct

D. complex

Question 14 : A. literacy
 B. contingency           C. ceremony

D. sanctuary

Question 15 : A. optimist
 B. accuracy
            C. continent

D. artificial

Mark the letter A,B,C, or D on your answer sheet to indicate the word  or phrase that could best replace the underlined part without changing the meaning of the sentence 

Question 16 : Hypertension is one of the most widespread and potential dangerous diseases

A. colossal

B. popular

C. common

D. scattered

Question17 : In the United States, a party can nominate a single candidate for office

A. refuse

B. keep

C. change

D. name 

Question 18 : The sales of drugs is controlled by law in most of countries

A. permitted

B. restricted

C. illegal

D. binding 

Question 19: I told you clearly and definitely not to write your answers in pencil, Smith!

A. considerably
B. thoroughly

C. altogether

D. specificially

Question 20 : A brief outlined of the course and bibliography were handed out to the students at the first meeting

A. dispensed

B. dispered

C. distributed


D. contributed

Read the following passage and mark the letter A,B,C, D on your answer sheet to indicate the correct answer to each of the following questions

One of the seven wonders of the ancient world, the Great Pyramid of Giza was a  monument of wisdom and prophecy built as a tomb for Pharaoh Cheops in 2720 B.C . Despite its antiquity, certain aspects of its construction makes it one of the truly wonders of the world. The thirteen- acre structure near the Nile river is a solid mass of stone blocks covered with limestone. Inside are the number of hidden passageways and the burial chamber of the Pharaoh. It is the largest single structure in the world. The four sides of the pyramid are aligned almost exactly on true north, south, east and west-an incredible engineering feat. The ancient Egyptians were sun worshippers and great astronomers, so computations for the Great Pyramid were based on astronomical observations.

Explorations and detailed examinations of the base of the structure reveal many intersecting lines. Further scientific study indicates that these represent a type of timeline of events – past, present and future. . Many of the events have been interpreted and found to coincide with known facts of the past. Others are prophesied for future generations and are currently under investigation. Many believe that pyramids have supernatural powers and this one is no exception. Some researchers even associate it with extraterrestrial beings of ancient past.

Was this superstructure made by ordinary beings, or one built by a race far superior to any known today?

Question 21: A. What has research of the base revealed?

A. there are cracks in the foundation

B. Tomb robbers have stolen the Pharaoh’s body

C. The lines represent important events

D. A superior race of people built in

Question 22: Extraterrestrial beings are ….

A. very strong workers


B. astronomers in the ancient times

C.  researchers in Egyptology

D. living beings from other planets

Question 23 :What was the most probable reason for providing so many hidden passages

A. To allow the weight of the pyramid to settle evenly

B. To permit the high priests to pray at night

C. To enable the Pharaoh’s family to bring food for his journey to the afterlife

D. To keep grave robbers from finding the tomb and the treasure buried with the pharaoh

Question 24 : The word feat in the first paragraph is closet in meaning to …

A. accomplishment
B. Appendage
C. festivity

D. structure

Question 25 : What do the intersecting lines in the base symbolize

A. Architects’plan for the hidden passages

B. Pathways of the great solar bodies

C. Astrological computations

D. Dates of important events taking place throughout time

Question 26 : In the second passage , the word ‘ prophesied’ is closest in meaning to......

A. affiliated

B. precipitated

C. terminated

D. foretold

Question 27 : What is the best title for the passage

A. Symbolism of the Great Pyramid

B. Problems with the Construction of the Great Pyramid

C. Wonders of the Great Pyramid of Giza

D. Exploration of the Burial Chamber of Cheops

Question 28 : On what did the ancient Egyptians base their calculations

     A. Observation of the celestial bodies
B. Advanced technology

     B. Advanced tools of measurement
D. knowledge of the earth’s surface

Question 29: Why was the Great Pyramid constructed?

     A. As a solar observatory


B. As a religious temple

     C. As a tomb for the Pharaoh

D. as an engineering feat

Question 30 :Why is the Great Pyramid of Giza considered one of the seven wonders of the world

A. it is perfectly aligned with the four cardinal points of the compass and contains many prophecies

B. It was selected of the tomb of Pharaoh Cheops

C. It was built by a super race

D. It is very old

Mark the letter A,B,C, or D on your answer sheet to indicate the  correct answer to each of the following question 

Question 31 :Nobody could have predicted that the show would arouse so much interest and that over two hundred people …. away

A. would have turned



B. would turn


C. had been turned 



D. would have to be turned

Question 32 : .... he was good at physics in lower grade, he was terrible at it in grade 12

A. While

B. Although

C. When

D. Except that

Question 33 : It is better to try to work .... rather than against Nature

A. for


B. with

C.  by


D. along

Question 34 : In the years .... all the trees will disappear if nothing is done to protect them

A. come

B. coming

C. to come

D. will come

Question 35 : Large numbers of Americans watch and participate in sports activities,... a deeply in grained part of American life

A. which is

B. which are

C. that is

D. that makes

Question 36 : The accused ... guilty to all charges 

A. pleaded

B. admitted

C. said

D. confessed

Question 37 : Mrs. Archer is known ... the finest collection of twentieth century art in private hands

A. as have

B. having

C. by having

D. to have

Question 38 : Mark is nearsighted. He .... glasses ever since he was ten years old

A. should have worn


B. must wear

C. need wear



D. has had to wear

Question 39 : I like your new car. What … is it?

A. brand

B. name

C. label

D. make

Question 40 : It... able to finish it in an hour

A. couldn’t be too hard if you are

B. can’t have been too hard if you were

C. can’t have been too hard if you had been
D. couldn’t be too hard if you had been 

Question 41 : “ Let’s have supper now. “    -“…”

A. You aren’t eating



B. I won’t

C. There aren’t any



D. Bill isn’t here

Question 42: ... an emergency arise , call 911

A. Should

B. Can


C. Does

D. Will

Question 43 : ... in business, one must be prepared to take risks

A. Succeeding

B. Success

C. To succeed

D. Succeed

Question 44 : I don’t like this wine. I like … 

A.  some other 
B. another

C. other

D.  the  other

Question 45 : The house is found ... down

A. to burn 

B. burning

C. having burned
D. to have been burned

Question 46 : Please look through these papers ... your pleasure

A. on


B. in


C. for


D. at

Question 47 : Only in the last few days ... to repair the swimming pool

A. anything has been done

B. has done anything

C. has anything been done

D. has there anything been done

Question 48 : “  Hello, I’d like to speak to Mr. Green, please “ – “ …….”

A. Sorry, can you say that again?
B. I’m sorry, I’ll call  again later

C. I’m afraid I don’t know

D. Let’s wait

Question 49 : ... percent in the population of Canada speak English?

A. How many

B. How much
C. What

D. Which

Question 50 : ‘’ Would you mind turning down your stereo ?’’   - “ …….”

A. I’m really sorry! I ‘m not paying attention

B. Oh! I’m sorry! I didn’t realize that

C. No. I don’t






D. Yes, I do 

Question 51: His job is ….

A. driving a bus
B. a bus driver

C. bus driving

D. a driver of a bus


Question 52:” I locked myself out of my apartment. I didn’t know what to do”

    -“ You … your roommate”

A. need have called


B. could have called

C. would have called


D. must have called 

Question 53:Granny is completely deaf. You’ll have to … allowance for her

A. bring

B. take

C. make

D. find

Question 54: Those trousers are far too big. Why don’t you have them…?

A. taken on

B. taken in

C. taken over
D. taken out

Question 55: Lack of exercise and high-fat diets have … to be the factor in heart attack

A. known been long



B. long been known

C. long known been



D. been long known

Read the following passage and mark the letter A,B,C, D on your answer sheet to indicate the correct answer to each of the following questions .

Baseball evolved from a number of different ball-and stick games (paddle ball, trap ball, one-old-cat, rounders, and town ball) originating in England. As early as the American Revolution. It was noted that troops played “ baseball” in their free time. In 1845 Alexander Cartwright formalized the New York Knickerbockers’ version of the game : a diamond shaped infield, with bases ninety feet apart, three strikers – you’re – out , batter out on a caught ball , three outs per inning , a nine man team. “ The New York Game” spread rapidly , replacing earlier localized forms. From its beginnings, baseball was seen as a way of satisfying the recreational needs of an increasingly urban – industrial society. At its inception it was it was played by and for gentlement. A club might consists of 40 members. The president would appoint two captains who would choose teams from among the members . Games were played on Monday and Thursday afternoons, with the losers often providing a lavish evening’s entertainments for the winners

 During the 1850- 70 period the game was changing, however, with increasing commercialism (charging admission), under – the – table payments to exceptional to players, and gambling on the outcome of games. By 1868 it was said that a club would have their regular professional ten , an amateur first -  nine , and their” muffins “ (the gentlemently duffers who once ran the game) . Beginning with the first openly all – salaried team (Cincinnati’s Red Stocking Club) in 1869, the 1870- 1890 period saw the complete professionalization of baseball , including formation of the National Association of Professional baseball players in 1871. The National League of Professional Baseball Clubs was formed in 1876, run by business-minded invertors in joint-stock company clubs. The 1880s has been called Major League Baseball’s “ Golden Age”. Profits soared, player’s salaries rose somewhat , a season of 84 games became one of 132, a weekly periodical “ The sporting News” came into being, wooden stadiums with double-deck stands replaced open fields, and the standard refreshment became hot dogs, soda pop and peanuts. In 1900 the Western League based in the growing cities of the Mis west proclaimed itself the American League

Question 56: What is the passage mainly about?

A. the origin of baseball

B. the commercialization of baseball

C. the influence of the “ New York Game” on baseball

D. the development of baseball in the nineteenth century

Question 57: Which of the following can be inferred from the passage ?

A. the wealthy gentlemen who first played baseball, later needed to find another recreational opportunity if they did not want to mix with other or become a “muffin”

B. hot dogs would not have become as popular as they did, without the professionalism and commercialism  that develop in baseball

C. the “ New York “  spread rapidly because it was better formalized 

D. business – minded investors were only interested in profits

Question 58 : The word “ inception” in line 8 is closest in meaning to 

A. requirements
B. beginning
C. insistence

D. rules

Question 59 : The word “ lavish “ in line 11 is closest in meaning to 

A. prolonged
B. very generous
C. grand

D. extensive

Question 60:Which of the following is true of the way the game  was played by wealthy gentlemen at its inception

A. a team might consist of 40 members

B. the president would choose teams from among the members

C. they didn’t play on weekend

D. they might be called “ duffers” if they didn’t make the first nine

Question 61 : According to the second paragraph , all of the following are true except:

A. commercialism became more prosperous  
B. the clubs are smaller

C. outstanding players got extra  income

D. people gamed on the outcome of games

Question 62 : Which of the following is NOT mentioned as a feature of the 1880s “ Golden Age”

A. wooden stadiums replaced open fields

B. a weekly periodical commenced

C. the National Association of Professional Baseball Players was formed

D. profits soared

Question 63: The word” somewhat”  in line 21 is closest in meaning to 

A. to a significant extent



B. to a minor extent
C. to not the same extent



D. to some extent

Question 64: The word “itself”  in line 24 refers to 

A. the Western League



B. growing cities

C. the Midwest




D. the American League

Question 65: Where in the passage does the author first mention payments to players

A. lines 4-7

B. lines 8-10

C. lines 11-14

D. 15- 18

Mark the letter A,B,C, or D on your answer sheet to indicate the underlined part following that needs correcting 
Question 66 : At the rate the clerks were processing the applications. Joe figured that it will take


   A



B





C

  four hours for his to be reviewed



  D

Question 67: Professor Layton was equally fond of the two children, but he had to admit that he 






A







found the youngest an easier child  to handle

   B

C
   D

Question 68: In order to become a law, a bill must be passed not only by the Senate but also 




         A



B
         C

the House of Representatives



D

Question 69:  Automobile began to be equipped by built-in radios around 1930



    A



      B
    C

   D

Question 70: The Oxford University Publisher has just published a new series of readers for



A







B
   C

 students of English


    D

Mark the letter A,B,C, or D on your answer sheet to indicate the  sentence that is closest in meaning to each of the following questions

Question 71 : Had he known more about the internet, he would have invested in some computer companies

A. Knowing about the internet help him invest in some computer company

B. He didn’t know much about the internet and he didn’t invest in any computer companies

C. Knowing about the internet , he would have invested in some computer companies

D. He would have invested in some computer companies without his knowledge of the internet

Question 72 : You should have persuaded him to change his mind 

A. It was essential to persuade him to change his mind but you didn’t 

B. You should persuade him to change his mind

C. You persuade him to change his mind but he didn’t

D. You didn’t persuade him to change because of his mind 

Question 73 : It would have been better if he had told us his new address

A. He might have told us his new address

B. He should have told us his new address

C. He should have told us his new address

D. It doesn’t matter that he  didn’t tell us his new address

Question 74 : Tom regrets to say that he has left his tickets at home

A. Tom regrets  leaving  the tickets at home

B. Tom was sorry that he has left the tickets at home

C. Tom wishes he hadn’t left the ticket at home 

D. Tom regrets to leave the ticket at home

Question 75 : It is such a wonderful opportunity that we mustn’t miss it

A. It is  too wonderful an opportunity for us to miss

B. The opportunity is wonderful enough for us to miss

C. It is a wonderful opportunity so that we can’t miss it

D. The opportunity is so wonderful that we are not able to afford it

Question 76 : “ Cigarette?” he asked . “ No,thanks.” I said

A. He asked for a cigarette and I immediately refused

B. He  mentioned  a cigarette, so I thanked him

C. He  offered me a cigarette and I  promptly declined

D. He asked if I was smoking , and I denied at once

Question 77: “ Can I see your ticket please””

A. The inspector asked to see my ticket

B. The inspector offered to see my ticket

C. The inspector expected to see my ticket

D. The inspector asked for my ticket

Question 78: Only customers with coupons may use the service

A. The service is available for coupons only

B. The service is restricted to customers in possession of coupons

C. Only rich customers can use the service with coupons

D. Only customers with coupons are service here

Question 79: Don’t let her treat you like that

A. You are not let be treated like that by her

B. Don’t allow you to be treated like that

C. Don’t let yourself be treated like that by her

D. She doesn’t treat you like that

Question 80: She has lost her appetite recently

A. She hasn’t had any food recently

B. Her appetite has been very good

C. She has gone off food recently

D. She hasn’t eaten a lot of food recently

--------The end----------
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Read the following passage and mark the letter A,B,C, D on your answer sheet to indicate the correct word for each of the blanks.

Looking for an unforgettable way to celebrate that special occasion? Well, the ….(1)of options open today’s youngster – or even “ oldster” for that matter, is a far cry from the traditional party or restaurant visit. No longer is it ….(2) sufficient to invite your friends round , buy some food and get a barker to produce a cake. No, today’s birthday boy or girl is looking for something out of the ordinary, ranging from the ….(3) expensive to the downright dangerous. Anything goes, as long as it is unusual and impressive.

Top of this year ‘s popular …..(4) are as follows: taking some friends rally driving , helicopter lessons, plane trip and parachuting , and hot air ballooning . Then there is always group bungee jumping or taking your buddies on a stomach – churning , while water rafting ……(5) down rapids.

The desire of adventurous celebration is not restricted to the ….(6) . I recently met an octogenarian who celebrated …..(7) the milestone of eighty by having a fly lesson.

Of course, if you have money the world is your oyster. A very rich relation of mine flew fifty of his friends to a Caribbean island to mark the passing of his half century. Unfortunately I was only a ….(8) relation.

Undoubtedly, the more traditional forms of celebration do continue to ….(9) the less extravagant or less adventurous among us. However, with my own half century looming on the horizon I would not say no to a weekend in Paris and a meal at the Eiffel Tower. I can …(10)dream. Perhaps by the time I’m eighty I’ll be able to afford it.

Question 1: A. scale
    
B. degree

C. range

D. variance

Question 2: A. hoped
    
B. decided

C. marked

D. considered
Question 3: A. perfectly
B. dearly

C. outrageously
D. explicity

Question 4: A. experiments 
B. extravagances. 
C. exposures

D. expenses

Question 5: A. ride

B. travel

C. voyage

D. crossing

Question 6: A. adolescents    B. teenagers

C. youth

D. young
Question 7: A. attaining         B. arriving

C. reaching

D. getting

Question 8: A. distant
B. remote

C. faraway

D. slight

Question 9: A. pacify
            B. satisfy
            C. distract

D. absorb

Question 10:A. however        B. but

            C. nevertheless
D. anyway

Mark the letter A,B,C, or D on your answer sheet to indicate the word that differs from the rest in the position of the main stress in each of the following questions.

Question 11 : A. invalid          B. predict
            C. pretend

D. preface
Question 12 : A. mausoleum 
 B. conservative
C. disqualify

D. magnificant

Question 13 : A. nuclear
 B. province

C. construct

D. complex

Question 14 : A. literacy
 B. contingency           C. ceremony

D. sanctuary

Question 15 : A. optimist
 B. accuracy
            C. continent

D. artificial

Mark the letter A,B,C, or D on your answer sheet to indicate the word  or phrase that could best replace the underlined part without changing the meaning of the sentence 

Question 16 : Hypertension is one of the most widespread and potential dangerous diseases

A. colossal

B. popular

C. common

D. scattered

Question17 : In the United States, a party can nominate a single candidate for office

A. refuse

B. keep

C. change

D. name 

Question 18 : The sales of drugs is controlled by law in most of countries

A. permitted

B. restricted

C. illegal

D. binding 

Question 19: I told you clearly and definitely not to write your answers in pencil, Smith!

A. considerably
B. thoroughly

C. altogether

D. specificially
Question 20 : A brief outlined of the course and bibliography were handed out to the students at the first meeting

A. dispensed

B. dispered

C. distributed


D. contributed

Read the following passage and mark the letter A,B,C, D on your answer sheet to indicate the correct answer to each of the following questions

One of the seven wonders of the ancient world, the Great Pyramid of Giza was a  monument of wisdom and prophecy built as a tomb for Pharaoh Cheops in 2720 B.C . Despite its antiquity, certain aspects of its construction makes it one of the truly wonders of the world. The thirteen- acre structure near the Nile river is a solid mass of stone blocks covered with limestone. Inside are the number of hidden passageways and the burial chamber of the Pharaoh. It is the largest single structure in the world. The four sides of the pyramid are aligned almost exactly on true north, south, east and west-an incredible engineering feat. The ancient Egyptians were sun worshippers and great astronomers, so computations for the Great Pyramid were based on astronomical observations.

Explorations and detailed examinations of the base of the structure reveal many intersecting lines. Further scientific study indicates that these represent a type of timeline of events – past, present and future. . Many of the events have been interpreted and found to coincide with known facts of the past. Others are prophesied for future generations and are currently under investigation. Many believe that pyramids have supernatural powers and this one is no exception. Some researchers even associate it with extraterrestrial beings of ancient past.

Was this superstructure made by ordinary beings, or one built by a race far superior to any known today?

Question 21: A. What has research of the base revealed?

A. there are cracks in the foundation

B. Tomb robbers have stolen the Pharaoh’s body

C. The lines represent important events

D. A superior race of people built in

Question 22: Extraterrestrial beings are ….

A. very strong workers


B. astronomers in the ancient times

C. researchers in Egyptology

D. living beings from other planets

Question 23 :What was the most probable reason for providing so many hidden passages

A. To allow the weight of the pyramid to settle evenly

B. To permit the high priests to pray at night

C. To enable the Pharaoh’s family to bring food for his journey to the afterlife

D. To keep grave robbers from finding the tomb and the treasure buried with the pharaoh

Question 24 : The word feat in the first paragraph is closet in meaning to …

A. accomplishment
B. Appendage
C. festivity

D. structure

Question 25 : What do the intersecting lines in the base symbolize

A. Architects’plan for the hidden passages

B. Pathways of the great solar bodies

C. Astrological computations

D. Dates of important events taking place throughout time

Question 26 : In the second passage , the word ‘ prophesied’ is closest in meaning to......

A. affiliated

B. precipitated

C. terminated

D. foretold

Question 27 : What is the best title for the passage

A. Symbolism of the Great Pyramid

B. Problems with the Construction of the Great Pyramid

C. Wonders of the Great Pyramid of Giza

D. Exploration of the Burial Chamber of Cheops

Question 28 : On what did the ancient Egyptians base their calculations

     A. Observation of the celestial bodies
B. Advanced technology

     C. . Advanced tools of measurement
D. knowledge of the earth’s surface

Question 29: Why was the Great Pyramid constructed?

     A. As a solar observatory


B. As a religious temple

     C. As a tomb for the Pharaoh

D. as an engineering feat

Question 30 :Why is the Great Pyramid of Giza considered one of the seven wonders of the world

A.it is perfectly aligned with the four cardinal points of the compass and contains many prophecies

B. It was selected of the tomb of Pharaoh Cheops

C. It was built by a super race

D. It is very old

Mark the letter A,B,C, or D on your answer sheet to indicate the  correct answer to each of the following question 

Question 31 :Nobody could have predicted that the show would arouse so much interest and that over two hundred people …. away

A. would have turned



B. would turn


C. had been turned 



D. would have to be turned
Question 32 : .... he was good at physics in lower grade, he was terrible at it in grade 12

A. While

B. Although

C. When

D. Except that

Question 33 : It is better to try to work .... rather than against Nature

A. for


B. with

C.  by


D. along

Question 34 : In the years .... all the trees will disappear if nothing is done to protect them

A. come

B. coming

C. to come

D. will come

Question 35 : Large numbers of Americans watch and participate in sports activities,... a deeply in grained part of American life

A. which is

B. which are

C. that is

D. that makes

Question 36 : The accused ... guilty to all charges 

A. pleaded

B. admitted

C. said

D. confessed

Question 37 : Mrs. Archer is known ... the finest collection of twentieth century art in private hands

A. as have

B. having

C. by having

D. to have
Question 38 : Mark is nearsighted. He .... glasses ever since he was ten years old

A. should have worn


B. must wear

C. need wear



D. has had to wear

Question 39 : I like your new car. What … is it?

A. brand

B. name

C. label

D. make
Question 40 : It... able to finish it in an hour

A. couldn’t be too hard if you are

B. can’t have been too hard if you were

C. can’t have been too hard if you had been
D. couldn’t be too hard if you had been 

Question 41 : “ Let’s have supper now. “    -“…”

A. You aren’t eating



B. I won’t

C. There aren’t any



D. Bill isn’t here
Question 42: ... an emergency arise , call 911

A. Should

B. Can


C. Does

D. Will

Question 43 : ... in business, one must be prepared to take risks

A. Succeeding

B. Success

C. To succeed

D. Succeed

Question 44 : I don’t like this wine. I like … 

A.  some other 
B. another

C. other

D.  the  other

Question 45 : The house is found ... down

A. to burn 

B. burning

C. having burned
D. to have been burned
Question 46 : Please look through these papers ... your pleasure

A. on


B. in


C. for


D. at
Question 47 : Only in the last few days ... to repair the swimming pool

A. anything has been done

B. has done anything

C. has anything been done

D. has there anything been done

Question 48 : “  Hello, I’d like to speak to Mr. Green, please “ – “ …….”

A. Sorry, can you say that again?
B. I’m sorry, I’ll call  again later

C. I’m afraid I don’t know

D. Let’s wait

Question 49 : ... percent in the population of Canada speak English?

A. How many

B. How much
C. What

D. Which

Question 50 : ‘’ Would you mind turning down your stereo ?’’   - “ …….”

A. I’m really sorry! I ‘m not paying attention

B. Oh! I’m sorry! I didn’t realize that
C. No. I don’t






D. Yes, I do 

Question 51: His job is ….

A. driving a bus
B. a bus driver

C. bus driving

D. a driver of a bus


Question 52:” I locked myself out of my apartment. I didn’t know what to do”

    -“ You … your roommate”

A. need have called


B. could have called

C. would have called


D. must have called 

Question 53:Granny is completely deaf. You’ll have to … allowance for her

A. bring

B. take

C. make

D. find

Question 54: Those trousers are far too big. Why don’t you have them…?

A. taken on

B. taken in

C. taken over
D. taken out

Question 55: Lack of exercise and high-fat diets have … to be the factor in heart attack

A. known been long



B. long been known

C. long known been



D. been long known

Read the following passage and mark the letter A,B,C, D on your answer sheet to indicate the correct answer to each of the following questions .

Baseball evolved from a number of different ball-and stick games (paddle ball, trap ball, one-old-cat, rounders, and town ball) originating in England. As early as the American Revolution. It was noted that troops played “ baseball” in their free time. In 1845 Alexander Cartwright formalized the New York Knickerbockers’ version of the game : a diamond shaped infield, with bases ninety feet apart, three strikers – you’re – out , batter out on a caught ball , three outs per inning , a nine man team. “ The New York Game” spread rapidly , replacing earlier localized forms. From its beginnings, baseball was seen as a way of satisfying the recreational needs of an increasingly urban – industrial society. At its inception it was it was played by and for gentlement. A club might consists of 40 members. The president would appoint two captains who would choose teams from among the members . Games were played on Monday and Thursday afternoons, with the losers often providing a lavish evening’s entertainments for the winners

 During the 1850- 70 period the game was changing, however, with increasing commercialism (charging admission), under – the – table payments to exceptional to players, and gambling on the outcome of games. By 1868 it was said that a club would have their regular professional ten , an amateur first -  nine , and their” muffins “ (the gentlemently duffers who once ran the game) . Beginning with the first openly all – salaried team (Cincinnati’s Red Stocking Club) in 1869, the 1870- 1890 period saw the complete professionalization of baseball , including formation of the National Association of Professional baseball players in 1871. The National League of Professional Baseball Clubs was formed in 1876, run by business-minded invertors in joint-stock company clubs. The 1880s has been called Major League Baseball’s “ Golden Age”. Profits soared, player’s salaries rose somewhat , a season of 84 games became one of 132, a weekly periodical “ The sporting News” came into being, wooden stadiums with double-deck stands replaced open fields, and the standard refreshment became hot dogs, soda pop and peanuts. In 1900 the Western League based in the growing cities of the Mis west proclaimed itself the American League

Question 56: What is the passage mainly about?

A. the origin of baseball

B. the commercialization of baseball

C. the influence of the “ New York Game” on baseball

D. the development of baseball in the nineteenth century

Question 57: Which of the following can be inferred from the passage ?

A. the wealthy gentlemen who first played baseball, later needed to find another recreational opportunity if they did not want to mix with other or become a “muffin”

B. hot dogs would not have become as popular as they did, without the professionalism and commercialism  that develop in baseball

C. the “ New York “  spread rapidly because it was better formalized 

D. business – minded investors were only interested in profits

Question 58 : The word “ inception” in line 8 is closest in meaning to 

A. requirements
B. beginning
C. insistence

D. rules

Question 59 : The word “ lavish “ in line 11 is closest in meaning to 

A. prolonged
B. very generous
C. grand

D. extensive

Question 60:Which of the following is true of the way the game  was played by wealthy gentlemen at its inception

A. a team might consist of 40 members

B. the president would choose teams from among the members

C. they didn’t play on weekend

D. they might be called “ duffers” if they didn’t make the first nine

Question 61 : According to the second paragraph , all of the following are true except:

A. commercialism became more prosperous  
B. the clubs are smaller

C. outstanding players got extra  income

D. people gamed on the outcome of games

Question 62 : Which of the following is NOT mentioned as a feature of the 1880s “ Golden Age”

A. wooden stadiums replaced open fields

B. a weekly periodical commenced

C. the National Association of Professional Baseball Players was formed

D. profits soared

Question 63: The word” somewhat”  in line 21 is closest in meaning to 

A. to a significant extent



B. to a minor extent
C. to not the same extent



D. to some extent
Question 64: The word “itself”  in line 24 refers to 

A. the Western League



B. growing cities

C. the Midwest




D. the American League

Question 65: Where in the passage does the author first mention payments to players

A. lines 4-7

B. lines 8-10

C. lines 11-14

D. 15- 18

Mark the letter A,B,C, or D on your answer sheet to indicate the underlined part following that needs correcting 
Question 66 : At the rate the clerks were processing the applications. Joe figured that it will take


   A



B





C

  four hours for his to be reviewed



  D

Question 67:Professor Layton was equally fond of the two children, but he had to admit that he 






A







found the youngest an easier child  to handle

   B

C
   D

Question 68: In order to become a law, a bill must be passed not only by the Senate but also 




         A



B
         C

the House of Representatives



D

Question 69:  Automobile began to be equipped by built-in radios around 1930



    A



      B
    C

   D

Question 70: The Oxford University Publisher has just published a new series of readers for



A







B
   C

 students of English


    D

Mark the letter A,B,C, or D on your answer sheet to indicate the  sentence that is closest in meaning to each of the following questions

Question 71 : Had he known more about the internet, he would have invested in some computer companies

A. Knowing about the internet help him invest in some computer company

B. He didn’t know much about the internet and he didn’t invest in any computer companies

C. Knowing about the internet , he would have invested in some computer companies

D. He would have invested in some computer companies without his knowledge of the internet

Question 72 : You should have persuaded him to change his mind 

A. It was essential to persuade him to change his mind but you didn’t 

B. You should persuade him to change his mind

C. You persuade him to change his mind but he didn’t

D. You didn’t persuade him to change because of his mind 

Question 73 : It would have been better if he had told us his new address

A. He might have told us his new address

B. He should have told us his new address

C. He should have told us his new address

D. It doesn’t matter that he  didn’t tell us his new address

Question 74 : Tom regrets to say that he has left his tickets at home

A. Tom regrets  leaving  the tickets at home

B. Tom was sorry that he has left the tickets at home

C. Tom wishes he hadn’t left the ticket at home 

D. Tom regrets to leave the ticket at home

Question 75 : It is such a wonderful opportunity that we mustn’t miss it

A. It is  too wonderful an opportunity for us to miss

B. The opportunity is wonderful enough for us to miss

C. It is a wonderful opportunity so that we can’t miss it

D. The opportunity is so wonderful that we are not able to afford it

Question 76 : “ Cigarette?” he asked . “ No,thanks.” I said

A. He asked for a cigarette and I immediately refused

B. He  mentioned  a cigarette, so I thanked him

C. He  offered me a cigarette and I  promptly declined

D. He asked if I was smoking , and I denied at once

Question 77: “ Can I see your ticket please””

A. The inspector asked to see my ticket

B. The inspector offered to see my ticket

C. The inspector expected to see my ticket

D. The inspector asked for my ticket

Question 78: Only customers with coupons may use the service

A. The service is available for coupons only

B. The service is restricted to customers in possession of coupons

C. Only rich customers can use the service with coupons

D. Only customers with coupons are service here

Question 79: Don’t let her treat you like that

A. You are not let be treated like that by her

B. Don’t allow you to be treated like that

C. Don’t let yourself be treated like that by her

D. She doesn’t treat you like that

Question 80: She has lost her appetite recently

A. She hasn’t had any food recently

B. Her appetite has been very good

C. She has gone off food recently

D. She hasn’t eaten a lot of food recently

--------The end----------
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 Read the set of words given in italics, then mark the letter A, B, C or D on your answer sheet to indicate the sentence that is the best made.

 1. provide/ your handwriting/ legible/ test scorer/ accept/ your answer


A. Providing with your legible handwriting, every test scorer must accept your answer.


B. Provided that your handwriting is legible, your answer will be accepted by any test scorer.


C. Providing your handwriting is legible, the test scorer does not accept your answer.


D. Provided for your legible handwriting, the test scorer has to accept your answer.

 2. New building / be / almost / twice / big / old one.


A. The new building is almost as twice big as the old one.


B. A new building is almost twice as big as an old one.


C. The new building is almost twice big the old one.


D. The new building is almost twice as big as the old one.

 3. you/ really/ be/ able/ dress/ yourself/ age.


A. You should really be able to dress yourself at your age


B. You are really able of dressing yourself this age!


C. You have really been able of dressing yourself by your age.


D. You must really be able of dressing yourself in your age.

 4. No one / know / answer / teacher / question.


A. No one knows the answer of the teacher's question.


B. No one knows how to answer teacher's question


C. No one knows the answer to the teacher's question.


D. No one knows to answer the teacher's question.

 5. hilltop/ have/ good/ view/ our village


A. From the hilltop, our village can have a better view.


B. From the hilltop, our village can be well viewed.


C. From the hilltop, we can have a better view of our village.


D. The hilltop can make our village views better.

 Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions from 6 to 15
It takes a long time to raise a family of owlets, so the great horned owl begins early in the year. In January and February, or as late as March in the North, the male calls to the female with a resonant hoot. The female is larger than the male. She sometimes reaches a body length of twenty-two to twenty-four inches, with a wingspread up to fifty inches. To impress her, the male does a strange courtship dance. He bobs. He bows. He ruffles his feathers and hops around with an important air. He flutters from limb to limb and makes flying sorties into the air. Sometimes he returns with an offering of food. They share the repast, after which she joins the dance, hopping and bobbing about as though keeping time to the beat of an inner drum. 
Owls are poor home builders. They prefer to nest in a large hollow in a tree or even to occupy the deserted nest of a hawk or crow. These structures are large and rough, built of sticks and bark and lined with leaves and feathers. Sometimes owls nest on a rocky ledge, or even on the bare ground. even to occupy the deserted nest of a hawk or crow. These structures are large and rough, built of sticks and bark and lined with leaves and feathers. Sometimes owls nest on a rocky ledge, or even on the bare ground. The mother lays two or three round, dull white eggs. Then she stoically settles herself on the nest and spreads her feather skirts about her to protect her precious charges from snow and cold. 
It is five weeks before the first downy white owlet pecks its way out of the shell. As the young birds feather out, they look like wise old men with their wide eyes and quizzical expressions. They clamor for food and keep the parents busy supplying mice, squirrels, rabbits, crayfish, and beetles. Later in the season baby crows are taken. Migrating songsters, waterfowl, and game birds all fall prey to the hungry family. It is nearly ten weeks before fledglings leave the nest to search for their own food. The parent birds weary of family life by November and drive the young owls away to establish hunting ranges of their own.

 6. According to the passage, young owlets eat everything EXCEPT ____________


A. other small birds
B. small mammals
C. insects
D. nuts and seeds

 7. In line 2, the phrase "a resonant hoot"  is closest in meaning to__________.


A. an instrument
B. an offering of food
C. a movement
D. a sound

 8. The phrase "precious charges"  in lines 14 refers to ____________.


A. the eggs
B. the nest
C. other nesting owls
D. the hawks and crows

 9. What can be inferred from the passage about the adult parents of the young great horned owls? 


A. They are sorry to see their young leave home.


B. They don't eat while they are feeding their young.


C. They probably don't see their young after November.


D. They are lazy and careless about feeding the small owlets.

 10. In line 16, the word "they"  refers to _______________.


A. the young birds
B. the adult birds
C. the wise old men
D. the prey

 11. The phrase "weary of"  in line 19 is closest in meaning to________________.


A. are attracted to
B. support
C. become sad about
D. tire of

 12. According to the passage, great horned owls


A. may inhabit a previously used nest 
B. build nests on tree limbs


C. need big nests for their numerous eggs
D. are discriminate nest builders

 13. According to the passage, which of the following is the mother owl's job?


A. To feed the young

B. To sit on the nest


C. To build the nest

D. To initiate the courtship ritual

 14. It can be inferred from the passage that the courtship of great horned owls ______.


A. happens in the fall

B. involves the male alone


C. takes place on the ground
D. is an active process

 15. What is the topic of this passage? 


A. Mating rituals of great horned owls
B. Raising a family of great horned owls


C. Nest building of great horned owls
D. Habits of young great horned owls

Mark the letter A, B, C, or D on your answer sheet to indicate the word that differs from the rest in the position of the main stress in each of the following questions.

 16.  A. picturesque
B. photograph
C. occupied
D. campfire

 17.  A. decision
B. reference
C. refusal
D. important

 18.  A. mountainous
B.  laborious
C. vigorous
D. dangerous

 19.  A. portable
B.  computer
C. literature
D. temperature

 20.  A. believe
B. persuade
C. anxious
D. instead

 Mark the letter A, B, C, or D on your answer sheet to show the underlined part that needs correction.

 21. The rapid growth of the world's population over the past 100 years have  led  to a  great increase in  the 




                           A
    B

C



acreage of land under cultivation .


                          D

 22. Televisions are now an everyday feature of  most households  in the United States, and television viewing  is 



A
B



C



the number one activity leisure .


                               D

23. Bacteria are one of the most abundant life forms on earth, growing on and inside another  living things, in 



          A               B



C

every type of environment


                       D

 24. In general, novels are thought of extended works of prose fiction depicting the inner and outer lives of their

 

             A
                            B



     C

characters.


D

 25. The flamingo constructs a cylindrical mud nest for its egg, which both parents care for it.
       A                          B

C


D

 Read the following passage adapted from A. Briggs’ article on culture, Microsoft® Student 2008, and marks the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions from 26 to 35

Culture  is  a word in common use  with  complex  meanings,  and  is  derived,  like  the  term broadcasting, from the treatment and care of the soil and of what grows on it. It is directly related to cultivation and the adjectives cultural and cultured are part of the same verbal complex. A person of culture has identifiable attributes, among them a knowledge of and interest in the arts, literature, and music. Yet the word culture does not refer solely to such knowledge and interest nor, indeed, to education. At least from the 19th century onwards, under the influence of anthropologists and sociologists, the word culture has come to be used generally both in the singular and the plural (cultures) to refer to a whole way of life of people, including their customs, laws, conventions, and values. 

Distinctions have consequently been drawn between primitive and advanced culture and cultures, between elite and popular culture, between popular and mass culture, and most recently between national and global cultures. Distinctions have been drawn too between culture and civilization; the latter is a word derived not, like culture or agriculture, from the soil, but from the city. The two words are sometimes treated as synonymous. Yet this is misleading. While civilization and barbarism are pitted against each other in what seems to be a perpetual behavioural pattern, the use of the word culture has been strongly influenced by conceptions of evolution in the 19th century and of development in the 20th century. Cultures evolve or develop. They are not static. They have twists and turns. Styles change. So do fashions. There are cultural processes. What, for example, the word cultured means has changed substantially since the study of classical (that is, Greek and Roman) literature, philosophy, and history ceased in the 20th century to be central to school and university education. No single alternative focus emerged, although with computers has come electronic culture, affecting kinds of study, and most recently digital culture. As cultures express themselves in new forms not everything gets better or more civilized. 

The multiplicity of meanings attached to the word made and will make it difficult to define. There is no single, unproblematic definition, although many attempts have been made to establish one. The only non-problematic definitions go back to agricultural meaning (for example, cereal culture or strawberry culture) and medical meaning (for example, bacterial culture or penicillin culture). Since in anthropology and sociology we also acknowledge culture clashes, culture shock, and counterculture, the range of reference is extremely wide. 

 26. Which of the following is NOT stated in the passage? 


A. The use of the word culture has been changed since the 19th century. 


B. Distinctions have been drawn between culture and civilization. 


C. Anthropology and sociology have tried to limit the references to culture. 


D. The word culture can be used to refer to a whole way of life of people. 

 27. The author remarks that culture and civilization are the two words that ______. 


A. have nearly the same meaning 
B. are both related to agriculture and cultivation 


C. do not develop from the same meaning
D. share the same word formation pattern 

 28. The word "static" in paragraph 2 could best be replaced by "______". 


A. regular
B. unchanged
C. dense
D. balanced

 29. It is stated in paragraph 1 that a cultured person ______. 


A. has a job related to cultivation 
B. does a job relevant to education


C. has knowledge of arts, literature, and music
D. takes care of the soil and what grows on it

 30. The passage mainly discusses ______. 


A. the multiplicity of meanings of the word culture
B. the distinction between culture and civilization 


C. the derivatives of the word culture
D. the figurative meanings of the word culture

 31. The word "attributes" in paragraph 1 most likely means ______. 


A. fields
B. aspects
C. skills
D. qualities

 32. According to the passage, the word culture ______. 


A. develops from Greek and Roman literature and history 


B. comes from a source that has not been identified 


C. derives from the same root as civilization does 


D. is related to the preparation and use of land for farming

 33. It can be inferred from the passage that since the 20th century ______. 


A. all schools and universities have taught classical literature, philosophy, and history 


B. classical literature, philosophy, and history have been considered as core subjects 


C. classical literature, philosophy, and history have not been taught as compulsory subjects


D. schools and universities have not taught classical literature, philosophy, and history 

 34. Which of the following is NOT true about the word culture?


A. Its use has been considerably changed.
B. It evolves from agriculture.


C. It differs from the word civilization
D. It is a word that cannot be defined.

 35. It is difficult to give the definitions of the word culture EXCEPT for its ______. 


A. sociological and anthropological meanings
B. agricultural and medical meanings


C. philosophical and historical meanings
D. historical and figurative meanings

 Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the following questions.  

  36. My cousin obviously didn't _________ much of an impression on you if you can't remember  meeting her.


A. create
B. build
C. do
D. make

 37. The boy screamed for help but he couldn't _________.


A. hear him
B. make himself heard
C. make himself hear
D. make him heard

 38. If you __________ to my advice in the first place, you wouldn't be in this mess now. 


A. had listened
B. will listen
C. listened
D. listen

 39. The government stopped the local companies from importing fake milk powder _________ of  public health.


A. for the attention
B. on the safe side
C. to the best
D. in the interest

 40. ______ his good education, Taro knew little about Japan as he left Japan when he was very young.


A. In stead of
B. With all
C. In place of
D. Along with

 41. ______ further rioting to occur, the government would be forced to use its emergency powers.


A. Did
B. Were
C. Should
D. Had

 42. - Peter: How are you today?              -  Susan:  ____________


A. I feel like a million dollars.
B. I feel like a million stars


C. I feel your ears burning
D. I can feel it in my bone

 43. When you are learning a language at home, you can work at your own __________ 


A. speed
B. way
C. mind
D. pace

 44. ________ in Paris before, he didn't know his way around when he took his family there.


A. Not be living
B. Never having lived
C. Because he has lived
D. His not living

 45. - Henry:  Well, it was nice talking to you, but I have to dash.      - Liz: ____________


A. OK, see you.

B. Yes, I enjoyed talking to you, too


C. Thanks! I will stop now.
D. Yes, It was.

 46. Wasn't it you __________ the door open?


A. to leave
B. to have left
C. that should left
D. who left

 47. I hear that miniskirts are coming back into fashion. I wonder if they'll really ____ again.


A. catch on
B. catch out
C. catch hold
D. catch up

 48. As children, we were very poor. When my father finally became rich, he told us that he wanted to ________ all the hardships we had suffere 


A. make over to
B. make up for
C. make out with
D. make off with

 49. The candidates' experience and qualifications will be taken into ​​​​​______ when the decision is made.


A. consideration
B. opinions
C. thoughts
D. review

 50. One can't help _____ compassion for the people who lost their homes in the earthquake.


A. from feeling
B.  but feel
C. in feeling
D. to feel

 51. - John: Who do you think will win this beauty contest?      - David:  ____________


A. No idea

B. It doesn't matter


C. It's not important

D. I really couldn't say, I'm afraid 

 52. Your house looks so new and strange, doesn't it?   -  Well, _________.


A. it's been painted
B. it was painted recently    C. it's  painted
D. it's being painted

 53. __________ , the people who come to this club in their twenties and thirties .


A. To a degree
B. Altogether
C. Virtually
D. By and large

 54. She really ________ reading intelligent books.


A. make up of
B. go in for
C. catch up on
D. bring in

 55. I would appreciate __________ it a secret.


A. that you keep
B. your keeping
C. you to keep
D. that you will keep

 56. - Margaret: He won the race? That's impossible.               - Paul: ____________


A. I couldn't say.
B. Yes, it is.
C. So you say.
D. No, it is.

 57. __________, let me know.


A. Should you hear anything
B. If you heard anything



C. Had you heard anything
D. Unless you hear anything

 58. Improving the overall environmental quality is a long-term battle in which we do want the participation of everyone in society in order to ________ results.


A. reap
B. bear
C. generate
D. realize

 59. ________ global solidarity, the world would not be better prepared for the influenza H1N1 pandemic


A. But for
B. On account of
C. Thanks to
D. If not

 60. Carbon emissions from airplanes and other pollutants ________to global warming.


A. spark
B. attribute
C. contribute
D. stem

 61. __________ I know the money is safe, I shall not worry about it. 


A. Even though
B. Unless
C. However
D. As long as

 62. Exhausted, we went directly to bed, ________ .


A. his knocking on our door was ignored by us
B. ignored him knocking on our door


C. ignored him knocking with our door
D. ignored his knocking on our door

 63. Making mistakes is all __________ of growing up.


A. part and parcel
B. odds and ends
C. top and bottom
D. chalk and cheese

 64. Parents play a ________ role in a child's upbringing in the formative years. They are  really the driving force behind whatever the children do.


A. title
B. supporting
C. starring
D. crucial

 65. - Jennifer:  -What are you doing ?      - Alan:  ____________


A. Look after your own affairs.
B. You don't enter at all. 


C. It's none of your business.
D. It doesn't touch you.

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct word for each of the blanks from 66 to 75

 The Industrial Revolution in Britain was built on the use of machines in factories. Since the s, Britain's  (66)_______  industries have replaced machine operators with computers, and this  (67)_______  has led to a decline in the number of  (68)_______  in many factories. Goods are bought and used much more than ever before but a lot of these goods are importe By the beginning of the th century, other industrial countries like the USA were  (69)_______  with Britain's exports, and countries in the Far East have been able to provide cheaper  (70)_______  since the s. Areas located with heavy industries are suffering high unemployment. During the last  years, there has been a constant rise in smaller industries  (71)_______  as "light industries". These ones use electricity and are not  (72)_______  on raw materials such as coal so they are "footloose", i.e. they can be located anywhere. They produce such things as washing machines or spare  (73)_______ . Some of these industries produce nothing at all, but provide services like distribution. The consumer boom of the s and the increased leisure time of most Britons have led to rapid  (74)_______  in service industries like banking, tourism, retailing and information processing, and in industries which distribute, maintain, and repair  (75)_______  consumer goods. 

 66.  A. manufacturing
B. running
C. large
D. big

 67.  A. automation
B. change
C. replacement
D. exchange

 68.  A. employers
B. servers
C. labours
D. employees

 69.  A. working
B. familiar
C. competing
D. fed up

 70.  A. products
B. things
C. imports
D. produce

 71.  A. worked
B. considered
C. known
D. regarded

 72.  A. dependent
B. command
C. dependable
D. reliable

 73.  A. details
B. parts
C. sections
D. gadgets

 74.  A. extension
B. expansion
C. growth
D. increase

 75.  A. everyday
B. household
C. expensive
D. home

 Mark the letter A, B, C or D on your answer sheet to indicate the sentence which is closest in meaning to each of the following questions.

 76. You should have persuaded him to change his mind.


A. You should persuade him to change his mind.


B. You persuaded him to change his mind but he didn't listen.


C. It was essential to persuade him to change his mind but you didn't.


D. You didn't persuade him to change because of his mind 

 77. Linda seems to have very little regard for other people's feelings.


A. Linda doesn't respect people who feel sorry for themselves.


B. Linda has difficulty expressing her feelings for other people.


C. Linda has very few feelings like other people's.


D. Linda appears unconcerned about other people's feelings

 78. He likes nothing better than fishing on a hot, summer day.


A. He loves nothing, even fishing on a hot, summer day.


B. Fishing is his favourite enjoyment on a hot, summer day


C. He doesn't like fishing on a hot, summer day.


D. Although he likes fishing, he doesn't want to do it on a hot, summer day.

 79. "If you don't apologise immediately, I'm leaving," she told him.


A. She told him not to apologise immediately.


B. She asked him to apologise immediately because she was leaving.


C. She threatened to leave unless he apologised  immediately.


D. She told him she was leaving if he apologised  immediately.

 80. "Cigarette?" he asked. "No, thanks." I said.


A. He asked if I was smoking, and I denied at once.


B. He mentioned a cigarette, so I thanked him.


C. He offered me a cigarette, so I promptly declined.


D. He asked for a cigarette, and I immediately refused.
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31. B; 32. C; 33. C; 34. C; 35. C; 36. C; 37. C; 38. B; 39. A; 40. B; 41. A; 42. A; 43. A; 44. C; 45. A; 


46. D; 47. A; 48. C; 49. D; 50. A; 51. D; 52. D; 53. A; 54. B; 55. A; 56. D; 57. A; 58. D; 59. A; 60. D; 


61. B; 62. C; 63. B; 64. D; 65. B; 66. A; 67. D; 68. B; 69. C; 70. D; 71. D; 72. D; 73. C; 74. D; 75. B; 


76. D; 77. C; 78. D; 79. D; 80. D; 

 Đáp án mã đề: 213

01. D; 02. B; 03. C; 04. A; 05. C; 06. B; 07. D; 08. D; 09. C; 10. A; 11. C; 12. D; 13. A; 14. B; 15. A; 


16. B; 17. D; 18. B; 19. B; 20. D; 21. B; 22. A; 23. D; 24. C; 25. A; 26. B; 27. A; 28. B; 29. B; 30. D; 


31. C; 32. D; 33. B; 34. D; 35. C; 36. C; 37. C; 38. C; 39. B; 40. D; 41. D; 42. C; 43. A; 44. C; 45. C; 


46. A; 47. C; 48. D; 49. D; 50. C; 51. D; 52. A; 53. A; 54. C; 55. C; 56. B; 57. C; 58. A; 59. B; 60. A; 


61. D; 62. A; 63. D; 64. C; 65. A; 66. A; 67. A; 68. B; 69. D; 70. D; 71. B; 72. B; 73. D; 74. B; 75. C; 


76. D; 77. B; 78. A; 79. D; 80. B; 

 Đáp án mã đề: 247

01. B; 02. A; 03. B; 04. A; 05. C; 06. B; 07. A; 08. D; 09. C; 10. A; 11. D; 12. D; 13. B; 14. D; 15. A; 


16. D; 17. D; 18. D; 19. A; 20. C; 21. D; 22. C; 23. A; 24. D; 25. A; 26. B; 27. A; 28. B; 29. A; 30. C; 


31. A; 32. B; 33. D; 34. B; 35. B; 36. C; 37. C; 38. A; 39. B; 40. D; 41. C; 42. A; 43. A; 44. D; 45. D; 


46. C; 47. A; 48. C; 49. D; 50. C; 51. A; 52. C; 53. A; 54. B; 55. C; 56. A; 57. C; 58. C; 59. B; 60. C; 


61. C; 62. A; 63. D; 64. B; 65. B; 66. A; 67. C; 68. B; 69. D; 70. D; 71. C; 72. D; 73. D; 74. B; 75. A; 


76. D; 77. B; 78. A; 79. B; 80. B; 
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